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Two identical antennas mounted on identical towers are separated from each other by a
distance of 45 km. What should nearly be the minimum height of receiving antenna to
receive the signals in line of sight ?
(Assume radius of earth is 6400 km)
Options :

8643515401, /2-1 m

8643515402, 2000 m

8643515403, 100-2 M

8643515404, 1277 m

Question Number : 1 Question Id : 8643511801 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

€ HHGY 227 3 95 J¥ & HHGY #eta f8d ©Ad 3 45 km ©F ©1 3 »iSd I8 | gHIfA #idtaT &
Bargql f5853H ot o3t It Irdtet I 37 fa Brets wite Arele &9 fHass YUz 32 |

(W& T33t = »i3g fawH 6400 km T 1)

Options :

8643515401, /0-1 m

8643515402, 20-09 M

8643515403, 1082 m

8643515404, 19.77 m

Question Number : 2 Question Id : 8643511802 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The de-Broglie wavelength associated with an electron and a proton were calculated by
accelerating them through same potential of 100 V. What should nearly be the ratio of their
wavelengths ? (m,=1.00727u m,=0.00055u)

Options :



8643515405, 43 : 1

8643515406, 1860 : 1

8643515407, 14 : 1

(1860)2 : 1
8643515408.

Question Number : 2 Question Id : 8643511802 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
fig fedaeTs foq Joma 5% a3 I8 F1-99918t 391 e fogs’ § »isa wigdl 100V € Udns
T 99T 3 YIS dad & fam T | fegst € 3991 S9TEl T S99 wigU's J=a |
{mp= 1.00727u m_=0.00055u)

Options :
8643515405, 43 :1

8643515406, 1860 : 1

8643515407, 141

- M2 .
8643515408, (1860)7 1 1

Question Number : 3 Question Id : 8643511803 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The refractive index of a converging lens is 1.4. What will be the focal length of this lens if it
is placed in a medium of same refractive index ? Assume the radii of curvature of the faces
of lens are R; and R, respectively.

Options :

8643515409, ZeT0

8643515410, 1

8643515411, [nfinite



Ry R,

R1 = Rg
8643515412.

Question Number : 3 Question Id : 8643511803 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
fea wifgrrst 859 © »ueadt »id 1.4 I | R &7 ©f Taw got &1 =91 799 fong g9 @
WUTSS! nid TB HmiH fE9 U2 77 | Ho B2 Sad" © @8d’ © 93" »idg fan™ g9 R, #i3

R2 g8
Options :
8643515409, 1180
8643515410, 1
8643515411, TH3 [ ME3
"Ry R,
Ry — Ry
8643515412,

Question Number : 4 Question Id : 8643511804 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Red light differs from blue light as they have :
Options :

3643515413. Same frequ encies and same wavelengﬂ\s

2643515414 Different frequencies and different wavelengths

8643515415, Same frequencies and different wavelengths

Different frequencies and same wavelengths
8643515416.

Question Number : 4 Question Id : 8643511804 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

BE [dTH 3% Yd™ 3 wigdl J AL fa 89 Jue 95
Options :

8643515413, TOTHT WIIIT w3 HIHT I BEEPT

8643515414, ST WEIIHT Wi NS 3TN BEEDAT
8643515415, 99T WIIIMT WiZ nidl 991 BETE T

8643515416, "TEI WRIIMT W3 HITHT 39T BEEM

Question Number : 5 Question Id : 8643511805 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

.—.'r £ e A
The magnetic field in a region is given by B =B, tiw k. A square loop of side d is placed
a :

—3 M

with its edges along the x and y axes. The loop is moved with a constant velocity v =v, 1.

The emf induced in the Innp is :
Y

A

Options :

8643515417, 2a

8643515418. a

8643515419, 2a



B, v,d>
8643515420,  2a

Question Number : 5 Question Id : 8643511805 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e o e o - R A i = i . - ~ 0 - =
g ¥s R dudl 433 B =B, = |k oo RT7 T Radsa & oo dsdi a3 y Tt ©
LY a r

&5 fere fasfanm § Sfimr T | 938t fFaAfag Ta1 v =0, i B IS T d38! fRg @3 &
wH WE J

Yy
A

Options :

8643515417. z

8643515418, a

8643515419.

8643515420,  2a

Question Number : 6 Question Id : 8643511806 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Amplitude of a mass-spring system, which is executing simple harmonic motion decreases
with time. If mass=>500g, Decay constant=20 g/s then how much time is required for the

amplitude of the system to drop to half of its initial value ?
(In 2=0.693)

Options :

8643515421, 246

8643515422, 1001 s

0.034 s
8643515423.

8643515424, 17328

Question Number : 6 Question Id : 8643511806 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
fog ya-awrel feera faost fa A9g wieds 33t © Use aae! J &7 »TdH AH 378 WeeT J |

fE2HET 2 %™ § HgwiEt H's 2 wigT 39 wes et fagt mi 9rdter 3 72

( B< g?!=5{]{]gr faures Afgg »ig=20 g/s, In 2=0.693)
Options :

8643515421, 3465 s

8643515422, 1201 s

8643515423, 0034 s

8643515424, 1732

Question Number : 7 Question Id : 8643511807 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Calculate the value of mean free path (A) for oxygen molecules at temperature 27°C and
pressure 1.01x10° Pa. Assume the molecular diameter 0.3 nm and the gas is ideal.
(k=138x10"2 JK}

Options :



8643515425, 2 nm

58 nm
8643515426.

8643515427, 56 nm

102 nm
8643515428.

Question Number : 7 Question Id : 8643511807 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

WMTIHHS WE BEl 27°C IUHS %3 1.01 X 10° Pa €™ 3 HUH'S HI3 TH3" (mean free path)
(N) € Ha T fore SarG | HE 82 »ig T fan™ 0.3 nm »3 W »iean J |
(k=138x10-2 JK-1)

Options :

8643515425, J2 nm

8643515426, 08 nm

8643515427, 56 nm

8643515428, 102 nm

Question Number : 8 Question Id : 8643511808 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What will be the nature of flow of water from a circular tap, when its flow rate increased
from 0.18 L /min to 0.48 L/ min ? The radius of the tap and viscosity of water are (.5 cm and
10~ 2 Pa s, respectively.

(Density of water : 10° kg/m?)
Options :
643515429, Steady flow to unsteady flow

8643515430, msteady to steady flow



8643515431, Nemains steady tow

8643515432, Remains turbulent flow

Question Number : 8 Question Id : 8643511808 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fog Jagrarg 2ot (2u) 3T feame =8 uat 2 Tam &7 /g™ &f J2ar, 72 fons’ gm =9
0.18 L/min 3 0.48 L/min T0T" J | U=l T »@y fan™A »3 87 (feraAfeet) gHEd 0.5 cm
M3 1073 PasT5 |

(Ut 2t wE3 2 10° kg/m?)

Options :

8643515429, SdlTSTd ZJTH L:-E-' dzld-f‘_")dl'.'_‘,-'d =

8643515430, S19oaI3Td 3 TS TI

TS I g
8643515431, = SRS

8643515432, © U=t (SIfagEe) =g Fue

Question Number : 9 Question Id : 8643511809 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A charge Q is moving dl distance in the magnetic field B . Find the value of work done by
—

B .
Options :

8643515433, 1

8643515434, Z8TO

8643515435, [nfinite

8643515436.



Question Number : 9 Question Id : 8643511809 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

g go7 Q Suat 8§39 B &9 dl I I T | B ©d 13 a1 a1 T HE YT JF 7
Options :
8643515433, 1

8643515434. i

8643515435, 703/ HTANI

8643515436, 1

Question Number : 10 Question Id : 8643511810 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Calculate the time interval between 33% decay and 67% decay if half-life of a substance is

20 minutes.
Options :

20 minutes
8643515437.

40 minules
8643515438.

A0 minutes
8643515439.

13 minutes
8643515440.

Question Number : 10 Question Id : 8643511810 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

33% WRUTE W3 67% wRWTS 9 AT #1398 T foAme SarG 99 9 uer9y & »igg-wg
(8r3) 20 fHe T |
Options :




8643515437, 20 THe

8643515438, 20 THe

8643515439, 00 THe

8643515440, 13 THe

Question Number : 11 Question Id : 8643511811 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

For the given circuit, comment on the type of transformer used.

iy i 011A

20VE

Options :

8643515441 teP - up transformer

864351544, Otep down transformer

Auto transformer
8643515443.

8643515444, Auxilliary transformer

Question Number : 11 Question Id : 8643511811 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



fgd 9% Adde B9, 993 912 SgHa9HT =t fany 3 feg9 39 -

iy i 0.11A

e
-

20V @

]| oW Y,
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|

Options :

8643515441, Ned MY STTHSTTHT

864351544 N FYE TTHITH

2 92&™ (W) ZITHEG
8643515443, < Heo (M7C) o

= (miarhaEn e
8643515444, TR (WATENT) TTTHEIHT

Question Number : 12 Question Id : 8643511812 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The half-life of Au!*® is 2.7 days. The activity of 1.50 mg of Au!"® if its atomic weight is
198 g mol ! is, (N, =6x10%*/mol).

Options :

8643515445, 240 Ci

8643515446, 27 1

8643515447, 292 G

8643515448, 200 ¢

Question Number : 12 Question Id : 8643511812 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Aul®® St nigg-wg 2.7 fe5 71 Aul®® T 1.50 mg & fafgwmites fdat I #ag ferer yest 379
198 g mol 1 J | (N, =6x1023/mol)



Options :
8643515445, 240 Ci

8643515446, 397 Ci
8643515447.

8643515448, 232 Ci

Question Number : 13 Question Id : 8643511813 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A bimetallic strip consists of metals A and B. It is mounted rigidly as shown. The metal A
has higher coefficient of expansion compared to that of metal B. When the bimetallic strip is

placed in a cold bath, it will :

Options :

8643515449, Bend towards the right

Bend towards the left
8643515450.

8643515451 Not bend but shrink

8643515452, MNeither bend nor shrink

Question Number : 13 Question Id : 8643511813 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



ffag Tu3 231 (Fefou) o2 A »3 B € gt 981 7| fog 9893 &% 931 gt o fae feyrfonr
J I T3 A, U3 BEE fmeT e85 I JueT J | A € U 291 § &3 29 3 Sfumr 7 37 fag
g9 |

Options :
8643515449. i

8643515450, 9 U'H <8 349

8643515451, =0 &J1 Y3 Harz Ar=ai

8643515450, O FA9N &' It HI=T

Question Number : 14 Question Id : 8643511814 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A large block of wood of mass M=5.99 kg is hanging from two long massless cords. A bullet
of mass m=10 g is fired into the block and gets embedded in it. The (block + bullet) then
swing upwards, their centre of mass rising a vertical distance h=9.8 cm before the
(block + bullet) pendulum comes momentarily to rest at the end of its arc. The speed of the

bullet just before collision is :

(take g=9.8 ms~?)
[ LS

m

M

—
v

Options :




8643515453, o114 m/s

8643515454, S214 m/s

8643515455, 5014 m/s

8643515456, Cri-4 m/s

Question Number : 14 Question Id : 8643511814 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

M=5.99 kg Ua = &g fors sagt & ganT € 29t Ud Ha3 dHT 375 Sedfem™ I 1 m=10
g =1 foa I8t gai wiwg T At I w2 fog fore wies WH (embeded) 771 I 1 fag (gamT +
JrEt) Gus ¥5 g8 d, feas € Ua de9 ©F ¥Fe™ got h=9.8 cm 2UE! J, 38< (FaA™+3@1) ©
T 2 fRfan 3 HieTst »igH wiereT feg woE 3 ufost 38t <1 feaed cagw S ufget 9=t
(B2 g=9.8 ms 2

BEGETITIH

m

M

—>
v

Options :

8643515453, o114 m/s

8643515454, 5214 m/s

8643515455, 5314 m/s

8643515456, o114 m/s

Question Number : 15 Question Id : 8643511815 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Statement 1 : A cyclist is moving on an unbanked road with a speed of 7 kmh I and
takes a sharp circular turn along a path of radius of Zm without reducing
the speed. The static friction coefficient is 0.2. The cyclist will not slip and
pass the curve. (§=9.8 m/s?)

Statement 11 : If the road is banked at an angle of 45° cyclist can cross the curve of 2m
radius with the speed of 18.5 kmh I without slipping,.

In the light of the above statements, choose the correct answer from the options given below.
Options :

643515457, Both statement I and statement 11 are true

3643515458, Both statement 1 and statement 11 are false

3643515459, Statement 1 is correct and statement 1l is incorrect

Statement 1 is incorrect and statement 11 is correct
8643515460.

Question Number : 15 Question Id : 8643511815 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

85 1: f¥g wieas g4 fod fag esm 21 739 §73 7kmh 1 €1 312t 578 987 J w3 fagt
3T W 2m »IT fawH € 9R3 2 3T gagrae A3 8¢ J | AfEg 9913 I
0237 | Aeas 989 38aeT 591 »2 I BUT" I | (g=9.8 m/s?)

FES 11 : F99 AFd & T8 T G 45° I, »i3 ATeds 978 2m T »iaq fanr & 299 § fast
fen® 185 kmh 1 €t 9=t &% Bw Hae™ T |

Suz fo3 85" © Hegg fag, Js o3 feasy 29 mat B39 9< .

Options :

8643515457, g5 1 w2 F85 1 22 FJt T5 |

3643515458, a0 1 #id €6 1l ©< d18d J5 |

8643515459 FES 1 W I »2 J898 11 &3 J |



8643515460, X6 1 B3 T w3 F@5 Il AT T |

Question Number : 16 Question Id : 8643511816 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

— A M A
A mosquito is moving with a velocity » =05t + 3tj + 9k m/s and accelerating in

uniform conditions. What will be the direction of mosquito after 2 s ?

Options :

tem_l[E | from x-axis
8643515461, \2)

_1(5) :

T e B | from y-axis
8643515462. \2)

tan ! ;W from x-axis
8643515463. L

2

tan 1(;} from y-axis

8643515464. RS

Question Number : 16 Question Id : 8643511816 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ffgHEg 2 v =05t%i + 3tj + 9k m/s 58 TS I w3 B39 YAz 793" &9 1 Was

2s gie Toar af J=41t 7

Options :
_1{ 5 =
tan = |1 Udl 4
8643515461, \2)
 _1(5) .
tan 1(— | ytl?ﬁ =
8643515462. \2)
2 .
tan” ' ﬂ xUat 3

8643515463. N



tan
8643515464.

Question Number : 17 Question Id : 8643511817 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
In order to determine the Young's Modulus of a wire of radius 0.2 cm (measured using a
scale of least count=0.001 cm) and length Im (measured using a scale of least
count=1 mm), a weight of mass 1 kg (measured using a scale of least count=1 g) was
hanged to get the elongation of 0.5 cm (measured using a scale of least count 0.001 cm).
What will be the fractional error in the value of Young’'s Modulus determined by this
experiment ?
Options :
8643515465. =

oy
8643515466. ito

o
8643515467. s

-
8643515468,

Question Number : 17 Question Id : 8643511817 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
0.2 cm »d0 f@»A (0.001 cm € StAe F82 T IH®"/H=d 293 &) %3 Im 98 (1 mm ©

BiAe age & IHaT[Heg 2593 d ) €f ffa 379 & WaW Je’d &g S& 0.5 cm (0.001 cm €
BtAe a9 T UH&T /HTed 293 ) T Fa™ YU3 95 B 1 kg (1 g BtA I8< € %" /Hea
293 9) UA © 99 BearfonT J |

fom & 2wrar U3 912 91 WM gt © HTE 39 wifidg 39t &t Jeatt 2
Options :
(1]
8643515465, 1% %

0.9%
8643515466.



8643515467, 0-14%

=
8643515468,

Question Number : 18 Question Id : 8643511818 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A resistor develops 500 | of thermal energy in 20 s when a current of 1.5A is passed through
it. If the current is increased from 1.5 A to 3 A, what will be the energy developed in 20 s.
Options :

8643515469. 208

8643515470. g

8643515471. 1500 )

?
8643515472. 2000 J

Question Number : 18 Question Id : 8643511818 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

feg yfzsua 20s &9 500 ] 37 Ga7r U= dae" J 7% 1.5A T f¥q gde fen 39 gmaer 7 | #4499
g9e 1.5A 3 3A 39 TUET J I 20s fdat Gaar §3Us J=an 2

Options :

8643515469. 0]

8643515470, 1000 ]

8643515471. A

2
8643515472. 2000 J

Question Number : 19 Question Id : 8643511819 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Find out the surface charge density at the intersection of point x=3 m plane and x-axis, in

the region of uniform line charge of 8 nC/m lying along the z-axis in free space.

Options :

47.88 C/m
8643515473,

rd 2
8643515474, 0-07 nC m

2
8643515475, 0424 nC m

40nCm 2
8643515476.

Question Number : 19 Question Id : 8643511819 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
x=3m ¥ ffd A& 437 3 94t % 8 nC/m ¥ 38 &8 Hd3 AUH &9 z gdt 3 Afzg wiew

WETT (surface charge density) J :
Options :
8643515473, 47-88 C/m

7 nC |
8643515474, 0-07 nC m

0424 nC m~1
8643515475.

& 1
8643515476, +0 nCm

Question Number : 20 Question Id : 8643511820 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The ff}llf}wf_t‘ug Iogic gate is r:-quivalr_-nt to:

D

B ——

A—Do_
DD_

Options :

8643515477, D Gate

8643515478, VAND Gate

8643515479, OR Gate

8643515480, NOR Gate

Question Number : 20 Question Id : 8643511820 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

J% fagr g 92 AWs (Fadgaar f&9) T |

D

}_
—D—

Options :

8643515477. L e

8643515478, NAND dIe

8643515479. R

8643515480, INOR @<
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Question Number : 21 Question Id : 8643511821 Question Type : SA

Correct Marks : 4 Wrong Marks :

If one wants to remove all the mass of the earth to ﬁ'u_t'init}-' in order to break it up cmnplz:-tel}-'.

The amount of energy that needs to be supplied will be — —— where x is

(Round off to the Nearest Integer)

x GM?2
2

(M is the mass of earth, R is the radius of earth, G is the gravitational constant)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 21 Question Id : 8643511821 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

#ag JEl Ug31 € Ud & »é3 [ »iAltHS 35 deer 4 37 fa feg udt 357 de A= | &=t Gaar & visa

GM2
R

J<art feg x J 1 (538 yas nig 39 I3 »e)

| e

(M wast 27 Ua J, R U331 & widq fawr J, G Ig3mdans g wid J 1)

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 22 Question Id : 8643511822 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A swimmer can swim with velocity of 12 km/h in still water. Water flowing in a river has

velocity 6 km/h. The direction with respect to the direction of flow of river water he should

swim in order to reach the point on the other bank just opposite to his starting point is
°. (Round off to the Nearest Integer)

(Find the angle in degrees)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 22 Question Id : 8643511822 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

foa Ig7a ¥= Ut fZ9 12 km/h © 291 &' 38 Age=' J | el € TI € 291 6 km/h I 1 S7&

st 2 fougr @ 993 o fowr feg 395 It I 37 fa G aEt © ©Ha faag Bn fig 3

UE_:H_ a3 fa "HT:I'*‘F'_-_ﬁ ﬁ:}; =4 ﬁ:-&ﬁgﬁ-&ix AHJIE (opposite) J2 |
(538 ygs nid 39 T9F #'e)

(= f3aEt f9 u=3m 49)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 23 Question Id : 8643511823 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



M, M

A body of mass 2 kg moves under a force of (2 i +3j 4 516,:' N. It starts from rest and was at

the origin initially. After 4 s, its new coordinates are (8, b, 20). The value of b is

(Round off to the Nearest Integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 23 Question Id : 8643511823 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

2 kg U ©f &g =A3 |20 + 3 5k|N 2 g ¥ 35 95et T | e wiran wieHEr 3 Ag d=t d

w3 How™3 9 HE 3 Al | 4 s gwie fene 32 faged »id (8,b,20) I5 | b & H'S
J | (538 YT wig 39 I3 wi'e)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 24 Question Id : 8643511824 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Aforce F =4i + 3 ;r -4k is applied on an intersection point of x =2 plane and x-axis. The

magnitude of torque of this force about a point (2, 3, 4) is . (Round off to the

Nearest Integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :



100

Question Number : 24 Question Id : 8643511824 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

x=2 T I8 w3 x U © o e fifg 3 warfonr famr ff 98 F =47 + 3] + 4k o fifg

(2,3, 4) % foR 98 © 294 & W3 J 1 (538 yds »id 39 I3 wie)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 25 Question Id : 8643511825 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A solid disc of radius ‘a” and mass ‘m’ rolls down without slipping on an inclined plane

- S
making an angle 8 with the horizontal. The acceleration of the disc will be PR sinb where

b is . (Round off to the Nearest Integer)
(g=acceleration due to gravity

B =angle as shown in figure)

P

6

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 25 Question Id : 8643511825 Question Type : SA



Correct Marks : 4 Wrong Marks : 0
HH3B 38 § d= 3 ¥ g €% 38 §73 ‘a’ w3y fon™ »13 ‘m’ U+ &t ffa &n gadt fag fans

= a} o = = 2 - - - = - - - x
Gefaa ot da<t I 1 Idat 27 Y=L 5 §snoJ=ar, fer b J1 (538 yss nig 39

g @ - MTa)

(g=Tg3" widdws Yd1, 6="1937 {9 feufonr az)

o

6

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 26 Question Id : 8643511826 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

For an ideal heat engine, the temperature of the source is 127°C. In order to have 60%
efficiency the temperature of the sink should be “C. (Round off to the Nearest
Integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 26 Question Id : 8643511826 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



feq wirean 3y foas B¢, {3 & IUHS 127°C I | 60% FHSIT Jue Bel g =7 IUHS

°C 329 | (538 Y3& »id 39 39§ »ie)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 27 Question Id : 8643511827 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

In a parallel plate capacitor set up, the plate area of capacitor is 2 m< and the plates are
separated by 1 m. If the space between the plates are filled with a dielectric material of
thickness 0.5 m and area 2 m? (see fig) the capacitance of the set-up will be g,
(Dielectric constant of the material =3.2) (Round off to the Nearest Integer)

d

Y

Q“‘

Im

d

2

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 27 Question Id : 8643511827 Question Type : SA



Correct Marks : 4 Wrong Marks : 0
AHT3T USe U'ad 29 USe™ ©F 43968 2 m2 »i3 USe™ fe9ad @AS Im T ¥F fa37 71 uder &t
fegarg 2t &t g7 fZ9 0.5 m 3d &1 HIEt wid faAer 439es 2 m2 (23 939 wigAg) T@ fia
Tugsl faaset uTrag 3faw A7 I | uF J12 AHTS (He wi) S e LG

o

(u=gE T Sugs! faws AfEg #id=23.2) (538 Uds wid 34 I'9 3 »1e)
d

L
L

QA

R

2

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 28 Question Id : 8643511828 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The energy dissipated by a resistor is 10 mJ in 1 s when an electric current of 2 mA flows
through it. The resistance is ). (Round off to the Nearest Integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100



Question Number : 28 Question Id : 8643511828 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

ffa urgd EwmaT 10 m] G347 1s ¥3H i3t I 72 fone &9 2 mA dd2 gager J | Yf3duasT
Q T | (338 Y35 wid 39 TGS »73)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 29 Question Id : 8643511829 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A deviation of 2° is produced in the yellow ray when prism of crown and flint glass are
achromatically combined. Taking dispersive powers of crown and flint glass as 0.02 and
0.03 respectively and refractive index for yellow light for these glasses are 1.5 and 1.6
respectively. The refracting angles for crown glass prism will be ° (in degree).
(Round off to the Nearest Integer)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 29 Question Id : 8643511829 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

i Jar < fage &9 2° = g=a™ U g J A< fugaH (prism) I9'95 »i3 gfde asw (d<) &
g3astyT Afgn I | F98% w2 2fde I  TaT fHuE gHEE 0.02 w3 0.03 J »3 feast
IBHT T FHT'I »UTIIE nid gHE'F 1573 1.6 I | JI85 IBH & Bl »U=3Is d< (faardtni
f&3) J=ar | (338 ygs »id 39 ITFF we)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText



Possible Answers :

100

Question Number : 30 Question Id : 8643511830 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A closed organ pipe of length L and an open organ pipe contain gases of densities p; and p,

respecfivel}-'. The compressibilit}-' of gases are equal in both the pipes. Both the pipes are

x [

vibrating in their first overtone with same frequency. The length of the open pipeis 3 L ‘l'ullF‘_j

where x is . (Round off to the Nearest Integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 30 Question Id : 8643511830 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

L Suet 1 ffq g »irgars ufey (38) »i3 g yst niraars a8t (Ufey) wivafent 3mr € wasr
FHET p, M3 p, T | T& BB fZT IHT T HIZ™ 9999 I | €38 3B wiuE Ufg8 wiferns

- - o k. a) b = b X E =
(82925 )29 9aad wiEddl 578 JUE Jaei™ 05 | UE! &8 < 89! qL ’— Jl

P2

fog x I (538 y3s nid 39 IY3 #1)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Chemistry Section A
Section Id : 864351123
Section Number : 3



Section type : Online

Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 80

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351123
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 8643511831 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The INCORRECT statement regarding the structure of Cg is :
Options :

643515491 It contains 12 six-membered rings and 24 five-membered rings.

The six-membered rings are fused to both six and five-membered rings.
8643515492.

8643515493 The five-membered rings are fused onl}-' to six-membered rings.

8643515494 Each carbon atom forms three sigma bonds.

Question Number : 31 Question Id : 8643511831 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Cg, ©f HoUa" AEUl a3 986 ©f 98 o9
Options :
o 'j‘ e ] o -, 'j‘ 5l 1 =, 1=,
8643515491 fer o9 12 & Hadt 2% n= 24 U Hedt 8% 9T 35|

fere & Hagl 88 o6 2 »iE U Hagr 2T 59 A 7= 361
8643515492,

2643515493, T HEd! &8 fAge & Hadl fenr 189 HHe 5 |

8643515494, 99X HTTE5 UTH'E 35 fRaH 5o aager J1

Question Number : 32 Question Id : 8643511832 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The INCORRECT statements below regarding colloidal solutions is :
Options :
8643515495, colloidal solution shows colligative properties.

A colloidal solution shows Brownian motion of colloidal particles.

8643515496.

The flocculating power of AI** is more than that of Na™* |
8643515497.
8643515498, An ordinary filter paper can stop the flow of colloidal particles.

Question Number : 32 Question Id : 8643511832 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

aETEs® uWH TE3/Aey 59 %3 98s JIo B 97 3=
Options :
8643515495, 0 €5 WS S HitmS I fewrge 35

8643515496, X0 Ea® Ui 19T AmTess © oz gogal ast few@e Ia1

e gaTgs 3+ £ - o
8643515497 © H01S o HeET APt @9 Nat &% e 32t 31

fea Aorgs 9 Ena! aBTESE a8 © YL & 9d Aot 9|
8643515498. 5

Question Number : 33 Question Id : 8643511833 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The characteristics of elements X, Y and Z with atomic numbers, respectively, 33, 53 and 83
are :

Options :

8643515499, X, Y and Z are metals.

2643515500. X and Z are non-metals and Y is a metalloid.



8643515501 X is a metalloid, Y is a non-metal and Z is a metal.

X and Y are metalloids and 7 is a metal.
8643515502.

Question Number : 33 Question Id : 8643511833 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

33 X, Y ni3 Z Tg! & es uanE wid 33, 53 w3 83 i ferms=T fer 3T 6 ¢
Options :
8643515499, X Y M5 2 T°F Ta 1

8643515500, X M3 Z U3 95 w3 Y Guus I

8643515501, SUTTS I, Y nia3 I m3 Z T3

8643515502, X M3 Y GUTEST 36 w3 Z W T

Question Number : 34 Question Id : 8643511834 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following reduction reaction CANNOT be carried out with coke ?
Options :

Fe,O; — Fe
8643515503. SN

8643515504, 2O — Zn

8643515505, —120 — Cu

ALO, — Al

8643515506.

Question Number : 34 Question Id : 8643511834 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
J5 htmr swarest yfsfafonm=t 3 fogst 3 (coke) T &% adt Al 7 Aol



Options :
Fe,O, — Fe
8643515503. o

8643515504, £NO — Zn

Cu,O — Cu
8643515505. e

ALO, — Al

8643515506.

Question Number : 35 Question Id : 8643511835 Question Type
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The correct statements about H,O, are :
(A) wsed in the treatment of effluents.
(B) wused as both oxidising and reducing agents.
(C) the two hydroxyl groups lie in the same plane.

(D) miscible with water.

: MCQ Option Shuffling : Yes Is

Choose the correct answer from the options given below :

Options :
8643515507, (“*) (B) and (D) only

8643515508, (0 (C) and (D) only

8643515509, (4) (C) and (D) only

seazsissg, Ly (B (O and (D)

Question Number : 35 Question Id : 8643511835 Question Type
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

: MCQ Option Shuffling : Yes Is



H,O, ® 779 Ad! 386 36

(A) dedt 7 Bafulirer © feom fio =o3 7E 5|

(B) ot BWaId nf3 wiaHITIS UfSeia ¥ e =gt e T
(C) 35 Toissars U fex 3 35 63 3 7

(D) wat o9 weehs/fures dar 31

J5 st feasur f=g Adt 839 ©F 9= a9 :

Options :

s643515507. (A), (B) »3 (D) frez

8643515508, (B () 3 (D) frse

-

8643515509, A (€)= (D) fAse

s643515510. (&) (B), (©) 73 (D)

Question Number : 36 Question Id : 8643511836 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
I[dentify the elements X and Y using the ionisation energy values given below :
lonization energy (kJ/mol)
15t 2nd
X 495 4563

¥ 731 1450
Options :
8643515511, ~~ Na; Y=Mg

X=Mg;Y=Na
8643515512.

8643515513, <~ F: Y=Mg

8643515514, ~~ Mg Y=F

Question Number : 36 Question Id : 8643511836 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
33 Xn Y & I i wiwalags Gan & 293 J feal 337 v uzT a9 #F € ¢

mEatagE g (k] /mol)

15t 2nd
X 495 4563
Y 731 1450
Options :
sea3s1ss511, X =Nad»3 Y =MgJ
8643515512, X=MgI I Y =Nad
8643515513, N~ FI M3 Y =Mgd
8643515514, X - MgI MY =FJ

Question Number : 37 Question Id : 8643511837 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The exact volumes of 1 M NaOH solution required to neutralise 50 mL of T M H3P03 solution

and 100 mL of 2 M H3P02 solution, respectively, are :

Options :
50 mL and 50 mL

8643515515.

100 mL and 50 mL
8643515516.

8643515517 100 mL and 200 mL

8643515515, 100 mL and 100 mL

Question Number : 37 Question Id : 8643511837 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
1 H59 NaOH uss ¥ fag-fag, s’ & foguy s9e st 50 Tl Bieg 1 B H,PO, Ws i3

100 Tt ®i2T 2 &g HyPO, gHeT Agast demi 36

Options :



8643515515, D0 THest Biea m3 50 fist Bles

100 Tt dteg w3 50 et steg
8643515516.

100 fHet dteg w= 200 et dteg
8643515517.

100 et Bteg w3 100 fiEt dtea
8643515518.

Question Number : 38 Question Id : 8643511838 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Arrange the following metal complex/compounds in the increasing order of spin only
magnetic moment. Presume all the three, high spin system.
(Atomic numbers Ce=>58, Gd=64 and Eu=63.)
(a) (NH,),[Ce(NO;),] (b) Gd(NO,); and (c) Eu(NO,),
Answer is :
Options :
8643515519, @) < (®) < (©)

8643515520. Ui

8643515521, () <@ <(©

8643515520, () < @) < (®)

Question Number : 38 Question Id : 8643511838 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

I et o3 usaR/tiaa g Thae fius gaat Hie © ue g <8 ®arg feg va Av 55, B9 s
T HUBAH I5 | (USHE=ST Ritm Ce=58, Gd=64 »=S Eu=63.)

[ Ha: Ao 38 duden/mifaa 89 fhus T9rEe 75 |

(a) (NHy),[Ce(NO,),] (b) Gd(NO,), e (c) Eu(NO,;),
Options :

8643515519, @) < () < (c)



se43515520, &) =A< ®)

8643515521, (0 <@ <(©)

8643515520, (©) < @) < ®)

Question Number : 39 Question Id : 8643511839 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Fc-:r2 and Fr:-y'3 are known when x and y are :

Options :

8643515523, ¥=F, CL Br, Tand y=F, Cl, Br, I

2643515504, ¥ =1, €L, Br, Land y=F, (], Br

8643515525, ¥=F Cl, Brand y=F, Cl, Br,

s643515506. Y=L Br, land y=F, Cl, Br, I

Question Number : 39 Question Id : 8643511839 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

FDIE?:@FDL;H?EH fenm JieT T 7T xﬂlﬁs’yaﬂ-ﬁ"ﬁaﬁ:
Options :

=F, Cl, Br, | 3 y=F, Cl, Br, I
8643515523, : J ;

8643515504 Y= F, CL Br, In5 y=F, Cl, Br

8643515525, Y=, Cl, Br m3 y=F,Cl Br, I

s643515506. ¥~ v Br. I»S y=F, Cl, Br, 1

Question Number : 40 Question Id : 8643511840 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The green house gas/es is (are ) :

(A) Carbon dioxide

(B) Oxvgen

(C) Water vapour

(D) Methane

Choose the most appropriate answer from the options given below :
Options :
8643515527. it

8643515528, (A) and (C) only

8643515520, () (©) and (D) only

A) and ly
8643515530. Ralems

Question Number : 40 Question Id : 8643511840 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ate T8H I ITs

(A) o9Es FE MEHES

(B) AT

(C) wat T TRy

(D) Hies IH

Jo fwftmT <9 g3 2= B39 < 9= a9

Options :

8643515527. (A)

8643515528, [H9=(A) 73 (C)

-

2643515529, FOE(A), (Q) »3 (D)

fAgg(A) »3 (B)
8643515530.



Question Number : 41 Question Id : 8643511841 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match List-1 with List-11 :

List-1 List-11
Test/Reagents/Observation(s) Species detected
(a) Lassaigne’s Test (iy Carbon
(b)  Cu(Il) oxide (ii) Sulphur
(c) Silver nitrate (i) N, S, P, and halogen
(d) The sodium fusion extract gives (iv) Halogen Specifically

black precipitate with acetic acid

and lead acetate
The correct match is :
Options :
ccazsisss) (@-(), B)-(i), (O-iv), (d)-(iii)

8643515532, (@)-(iii), (b)-(i), (c)-(iv), (d)-(ii)
8643515533, (@) (i), (b)-(i), (c)~(i1), (d)-(iv)

2643515534, @)-(1), (b)-(iv), (c)-(ii), (d)-(ii)

Question Number : 41 Question Id : 8643511841 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



get- 13 get- Il &% e
get- 1 - 11

ZHe/Mmifgaara/iyE AitEe = 79
(a) WA 2R (i) =9Es

(b) arug(Il) mEAES (ii) F®B=T

(c) fr@=ga=tee (iii) N,S, P, n3 3%05

(d) Pt s BReER Y T 3w (iv) S R39S
NS 5 FEICE & A% WEHU HET8ET J
At o= a9

Options :

cca3siss3l. @), O)-(), (©-(iv), (d)- (i)

8643515532, (@) (i), (b)-(1), (c)-(iv), (d)-(ii)
8643515533, (@)-(iL), (b)-(1), (c)-(i1), (d)-(iv)

2643515534, @)-(1), (b)-(iv), (c)-(iii), (d)-(ii)

Question Number : 42 Question Id : 8643511842 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Statement 1 :  Sodium hydride can be used as an oxidising agent.
Statement Il : The lone pair of electrons on nitrogen in pyridine makes it basic.
Choose the CORRECT answer from the options given below :

Options :

643515535, both statement I and statement Il are true

2643515536, Both statement 1 and statement 1l are false

Statement 1 is true but statement 11 is false
8643515537.

Statement 1 is false butl statement 11 is true
8643515538.



Question Number : 42 Question Id : 8643511842 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
qg6- 1:  HASh TEIETES & wiaHiaad 20 93T Jier J1
age- 11 : fUdisls F9 adicns €3 Hoge feardl fedaers @ e B8R & uar saG=t U1

n

J5 Ty fRamur feg rdt B9 St o= oo -

Options :

2643515535, = @8 1 we Jg& I Adt 95|

8643515536, T a0 1 0= HG LI 93 J6 |

8643515537, 0 L Adl T U 366 1053 I

8643515538, 00 | I®3 I US 65 At I

Question Number : 43 Question Id : 8643511843 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An unsaturated hydrocarbon X on ozonolysis gives A. Compound A when warmed with
ammonical silver nitrate forms a bright silver mirror along the sides of the test tube. The

unsaturated hydrocarbon X is :
Options :
CHy— C=C—CHay
8643515539.

CH3—C = C—CHj

8643515540. CH; CHs

HC=C—CH,—CH,
8643515541 :

CHj,

I
CH;—C=§§1
8643515542.

Question Number : 43 Question Id : 8643511843 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

fea ninzflz oelsdaags X minafef®n 3 A 581 91 Giea A S miistas fiseg areice 378 amH a3
Hier J 3t 9vaeTT gl & A 2Re feud € gafeT € A 95T J1 »A3fUS JElsd aeEs X I
Options :

CHy— C=C— CHj

8643515539.
CH3—C = C—CH;,
8643515540. CH; CH;
HC=C— CHE _CH%
8643515541. :

CHj,

|
CH3—C=<
8643515542

Question Number : 44 Question Id : 8643511844 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

]

Identify the reagent(s) ‘A" and condition(s) for the reaction

¥

Options :

8643515543, 11 = Ch 7 dark, Anhydrous AlC,

A=HC], Zn(Cl,
8643515544. c

—CL - UV E
8643515545, 11— Cla s UV light

A=HU ; Anhydrous AlCL,
8643515546. § ;

Question Number : 44 Question Id : 8643511844 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
cl

Cl
wifgaaHd ‘A’ w3 AHidGs T Ba37 7 uStAfasy ©F
Options :
8643515543. A=Cl,; 95T, A%aiaS AICL,

8643515544, 2~ TG ZnCly

8643515545, 4= Cla s UTHABT YR

8643515546, * = HCL; 79103 AlCL,

Question Number : 45 Question Id : 8643511845 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

CH; COOH
_\/ g ™~
S
OCHj,4 OCH;4
In the above reaction, the reagent “A” is :
Options :
LiAlH,
8643515547.
] _ ;
8643515548, Alkaline KI\.«11104, H
8643515549, HCL Zn—Hg
i
8643515550, [NaBHy, H30



Question Number : 45 Question Id : 8643511845 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Hs ~ COOH

ST ", v

OCH, OCH,
Budas AHlags &9 nifgaana “A” T
Options :

8643515547, LiAlHy

ya KMnO,, H f
8643515548.

HCl, Zn—Hg
8643515549.

NaBH,, H,O*
8643515550. :

Question Number : 46 Question Id : 8643511846 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AN (i) CgHsMgBr Ether
‘ (1.0 equivalent), dry ¥
P N 1) HEOT Major Product
OCH;

The structure of X is :

Options :

8643515551.



OCH;
8643515552.
8643515553.
C‘)
| CeHs
St WL
8643515554

Question Number : 46 Question Id : 8643511846 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
CN (i) CgHsMgBr

T

[ " | (1.0 FogasT), pur 5T
‘“f,\y_ (i) HyO™* l;TH @'LTT—I
C:}CH:;

X = A9ger I
Options :

I

(_ "a...|___,.e-‘*- CEPHE
OCHj,4

8643515551.



rﬁﬁﬁumuyfﬁ,wuhuh}q}{z

-
OCH,
8643515552. -
[ffkunhyfﬁ. NH,
8643515553.
(T
| CeHs
**Q;HH""“%xf“FICGP{E
8643515554.

Question Number : 47 Question Id : 8643511847 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following is least basic ?
Options :

(CH;CO),NH
8643515555, S

8643515556, (“2Hs)2NH

(CH,CO) NHC,Hs
8643515557, 32

(CoH5 )N
8643515558, 2 O

Question Number : 47 Question Id : 8643511847 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
75 @b 58 g3 we va faaa T
Options :

(CH;CO),NH
8643515555. S

8643515556, (“2Hs)2NH

(CH.CO) NHC,H
8643515557, 3L 2775

(CaH )1
8643515558, \ 2 153

Question Number : 48 Question Id : 8643511848 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Ammonolysis of Alkyl halides followed by the treatment with NaOH solution can be used to
prepare primary, secondary and tertiary amines. The purpose of NaOH in the reaction is :
Options :

8643515559 to remove basic impurities

8643515560. to activate I\II-I3 used in the reaction

8643515561, L0 increase the reactivity of alkyl halide

643515562, to remove acidic impurities

Question Number : 48 Question Id : 8643511848 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

NEAEH JHES T MHeBEAR 3 g NaOH us &% yfsfafonr aga urfendt, Aesdt n8 Zaad]
IS gar8e 76 | Ufsfafanr 28 NaOH & HanRe 7 ad
Options :
8643515559. il @ 9253
NH, & yfsfafonr @<t €3r3f3 awa

8643515560.



nEaEs JuEts fafanr afss o8
8643515561.

8643515562. = g =

Question Number : 49 Question Id : 8643511849 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following polymer is used in the manufacture of wood laminates ?
Options :

643515563 Melamine formaldehyde resin

643515564 Urea formaldehyde resin

643515565, Cis-poly isoprene

8643515566. Phenol and formaldehyde resin

Question Number : 49 Question Id : 8643511849 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Jo fwftnT 39 faog susa oadt © SHlac gags &ef =9 AT & ?
Options :

= = ﬂ i =5 ﬂ ﬂ = F
8643515563. ;

: -
8643515564. =

T —
8643515565, FH U UrSMIEFRmS

8643515566, SOB—MS FH T Ffo

Question Number : 50 Question Id : 8643511850 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The socnndar}-' structure of protein is stabilised h}-’ -



Options :

8643515567 van der Waals forces

8643515563, | eptide bond

8643515569. Hydrogen bonding

8643515570 glycosidic bond

Question Number : 50 Question Id : 8643511850 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

YZiat T Fasdl Aoga’ @ hEesT o3t et ¢
Options :

8643515567, T HET ERRLL e

8643515568, UMUSTENE HUS

8643515569, JEIBIT® HUB

8643515570, TTEI FEISel 7T T H

Chemistry Section B
Section Id : 864351124
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351124
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 8643511851 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



When 35 mL of 0.15 M lead nitrate solution is mixed with 20 mL of 0.12 M chromic sulphatr_-

solution,

» 107> moles of lead sulphate precipitate out. (Round off to the Nearest

Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 51 Question Id : 8643511851 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

e 35 il dtew 0.15 HBg 83 aelee T u® § 20 i@t #led 0.12 Hea aefia Asee © us <9
HHTSS 3T Afer T | %1075 1™ %5 AS%eC T WYY HaT 96 | (837 338 yds »id 39
f4)

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 52 Question Id : 8643511852 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Ga (atomic mass 70 u) crystallizes in a hexagonal close packed structure. The total number
of voidsin 0581 gof Gais 102, (Round off to the Nearest Integer).

[Given : N, =6.023 x 10%]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 52 Question Id : 8643511852 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



Ga (UgHa<t UA=70u) € 3=l 33 Uds ©f Aoos' <9 fapestias g=v 1 0.581 arH Ga <o o= feg
SRl x10213. (83T 338 ud9s nid 3 )
[fE3T 3 : N, =6.023x10%]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 53 Question Id : 8643511853 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The number of orbitals with n=5, m; = 2ig (Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 53 Question Id : 8643511853 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

n=>5m=+2¢ g% foe3t wafeest St ffoor T | (B39 338 uds wig 39 f5u)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 54 Question Id : 8643511854 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



At 25°C, 50 g of iron reacts with HCI to form FeCI?_. The evolved hydrogen gas expands

against a constant pressure of 1 bar. The work done by the gas during this expansion is
J.

(Round off to the Nearest Integer).

[Given : R=8.314 ] mol ! K~ 1. Assume, hydrogen is an ideal gas]

[Atomic mass of Fe is 55.85 u]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 54 Question Id : 8643511854 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

50 aTH B HC1 &% 25°C SUH'E 3 folfont™ o9 FeCl, 52w J1  foa@t J8t TEi59ws diR 1 bar ©
Afag Tamr feT Smct U1 fen Sme ©oF dF Toor ot3T famr gy ] 3. (B39 338 uTs nid
3 o)

[fF37 T : R=8314] mol ! K~ L. & aretsans &g nieon 91 T |

[ugH==t UA Fe T 55.85 u]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 55 Question Id : 8643511855 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

At 363 K, the vapour pressure of A is 21 kPa and that of B is 18 kPa. One mole of A and
2 moles of B are mixed. Assuming that this solution is ideal, the vapour pressure of the
mixture is kPa. (Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText



Possible Answers :

100

Question Number : 55 Question Id : 8643511855 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

363 KT 3uHE Gug ATmemit samr 21 kPanS BT 18kPad I Ta i@ AnS T HE B 3
fimfor famr T 1 Vo fupos e wegrums I3 A otz kPad |
(857338 uds vid 3 fd)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 56 Question Id : 8643511856 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Sulphurous acid (H,50,) has Ka; =1.7x10~2 and Ka,=6.4 x10"8. The pH of 0.588 M
(Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 56 Question Id : 8643511856 Question Type : SA
Correct Marks : 4 Wrong Marks :

H?:’;‘I%EHH L (H,S0,) = Ka,=1.7x10 2wz Ka,=6.4x10 831 37 0588 M H,50, =il pH
T HIHd J| (B39 338 Y9 wid 33 fH)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100



Question Number : 57 Question Id : 8643511857 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A 5.0 m mol dm ~? aqueous solution of KCl has a conductance of 0.55 mS when measured in
a cell of cell constant 1.3 cm ™!,
1

The molar conductivity of this solution is _

mSm? mol 1. (Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 57 Question Id : 8643511857 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

5.0 gt ® wFt wx 3 iftes (dm~%) @B K1 78t s ot wasr 055 mS Y e g A
fame iz gfgg mid 13 em~ 17 Ifer us € 1&g o@asT  mSm2Zmol ! 71 (B3F
3% Uds mid 3 f5d)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 58 Question Id : 8643511858 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A and B decompose via first order kinetics with half-lives 54.0 min and 18.0 min respectively.
Starting from an equimolar non reactive mixture of A and B, the time taken for the
concentration of A to become 16 times that of B is __ min. (Round off to the Nearest

Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100



Question Number : 58 Question Id : 8643511858 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A 73 B T fwes yaH aet a& yStiafont aoc 96 AAe! »ieg e gHee 54.0 fiie ni3 18.0 file
I5 |+ 99HT HEBIST % Jig fafaniis A w3 B, fiees 3 g3 o3 7= 31 __fHerfig A
T HWEUE B &8 16 g& J AT J1 (B39 438 uds wid Sa fn)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 59 Question Id : 8643511859 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
[Ti(H,O).]** absorbs light of wavelength 498 nm during a d —d transition. The octahedral
splitting energy for the above complex is i J. (Round off to the Nearest
Integer). h=6.626 %10 H Js; c=3X 108 ms 1

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 59 Question Id : 8643511859 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
[Ti(H,0)J>* yars foras fmet Soar Saret 498 nm3 d - d uawans &8t Afz sweet 31 71 Gua 3
Ao &2 vioewel Burfortns fegms 8o _  x107 193 J (B39 338 Uds mid 34
fme) (f:_c'Ea'T J: h=6.626 <1034 Js; c=3x10% ms 1)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 60 Question Id : 8643511860 Question Type : SA



Correct Marks : 4 Wrong Marks : 0

In Duma’s method of estimation of nitrogen, 0.1840 g of an organic compound gave 30 mL
of nitrogen collected at 287 K and 758 mm of Hg pressure. The percentage composition of

nitrogen in the compound is . (Round off to the Nearest Integer).

[Given : Aqueous tension at 287 K=14 mm of Hg]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 60 Question Id : 8643511860 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

gy fedt wspa aetens © W3osHd femsms =9 01840 ary © argafsa tfoe 30 @t dteg
aElens 287 KIuWa w3 758 mm U © TE B3 fEaet =13t At I 1| fen ofaw =9 aeiens
YSTHS Awes (% composition) T | (837 33% uds nig 3a &)

[fe3T T - wat & 287 K3 TAUTE=14 mm|]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Mathematics Section A
Section Id : 864351125
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351125

Question Shuffling Allowed : Yes



Question Number : 61 Question Id : 8643511861 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o s )
If the foot of the perpendicular from point (4, 3, 8) on the line Ll o P T b A

[ 3 4

I £ 0 is (3, 5, 7), then the shortest distance between the line L, and line

L X 2=5"r 4=Z 5isequalt0:

3 4 5
Options :

1
8643515581. V6

8643515582.

1
8643515583. V3

|
8643515584, V3

Question Number : 61 Question Id : 8643511861 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A iy (43,8 IFw L, T2 - Lo L 4b,:¢0énrfga¢§sréﬁa@ﬁg{3,5,ﬂi‘r|

eI L MIIL,: X2 _ Y4 _Z2- S fRguweSuegdueue .
Options :
Y
8643515581, VO

Az
8643515582, 2

Sl=

8643515583.



2
8643515584, N{3

Question Number : 62 Question Id : 8643511862 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let the lengths of intercepts on x-axis and y-axis made by the circle x>+ y* + ax + 2ay + c=0,

(a <0)be 242 and 245, respectively. Then the shortest distance from origin to a tangent to

this circle which is perpendicular to the line x + 2y =0, is equal to :
Options :

8643515585. V10

fr—

1

g

8643515586.
8643515587. V7
V6

8643515588

Question Number : 62 Question Id : 8643511862 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

HE B8 2 3 y 09 I a9 22 + 2 +ax + 2ay + c=0, (a < 0) T»a™ I8 € »iI9 ¥3T =F St
THET 242 W3 25 T | IT W Jog ot miaw Fur A At P x4 2y=0 IwfEST F AW I
we-ue gdt 99reg I :

Options :

8643515585. V10

I

<
[
-

8643515586.

o

8643515587.

2

8643515588.



Question Number : 63 Question Id : 8643511863 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e — — b
r , I’

Leta =i +2j —3kand b =21 -3j +5k. i r x a=bxr, r-\ai +2j+k| =3

—3 / A, M

2
and r - 2.;'. I 5;' u--k; is equal to :

fog
= — 1, a € R, then the value of «+ ‘ r

Options :

8643515589.

8643515590, 11

8643515591, 12

8643515592. 15

Question Number : 63 Question Id : 8643511863 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Ws ®@ a=i+2j-3k w3 b=2i-3j+5k W4@ rxa=bxr,
T A A - A A} 2
f'(‘-‘i-fl.|2}-|k.=3hf:5’ 1"[2?I5.j. m.Tr-_= I,u&[{,é’E:xI‘r ETTI;TEEF:I"'EIH%

Options :

8643515589. ?

8643515590, 11

8643515591, 19

8643515592. k2

Question Number : 64 Question Id : 8643511864 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Let f be a real valued function, defined on R—{—1, 1} and given by

|x 1| 2
|x|1| x—1

flx) = 3loge

Then in which of the following intervals, function f(x) is increasing ?

Options :
1,1
8643515503, | <+ <)=L 1}
1
(-=-1) v (I3, =) - 1)
8643515594, i i
1
(—e=, 51 §—1}
8643515595,
1
(—1, 51
8643515596.

Question Number : 64 Question Id : 8643511864 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
He B2 [fla emsfea yes & e8a 4, A dt R {1, 1) B3 ufggfaz 4,

x l| 2
xll| x—1'

@ = 31og |

3¢ I3 fod fan nizas &9 f(x) Tuer T 2

Options :
s643515503. (2 ®)~ =11}
1
(—=,—1) U ([E, o0 ) {1”
8643515594 X )
1 |
(- =, 31-(-1)

8643515595.



8643515596. -

Question Number : 65 Question Id : 8643511865 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

_ = .
If the points of intersections of the ellipse E | b_z = 1 and the circle x¥2 4 y3=4b, b > 4 lie

on the curve L.r2 =322, then b is equal to :
Options :

8643515597, 2

8643515598, ©
8643515599, 10

8643515600, 12

Question Number : 65 Question Id : 8643511865 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

3 2
2 - ' S . w po .
Had fefaun 5 T aE" 1 %3 Jad x2+y2=4b,b>4 T Tee g T3T 2=322 QU3 T5 3 b
i)
g9eg J
Options :
8643515597, 2
6
8643515598.

8643515599, 10

8643515600, 12

Question Number : 66 Question Id : 8643511866 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Let C be the locus of the mirror image of a point on the parabola yzz-—ix with respect to the
line y=x. Then the equation of tangent to Cat P(2, 1) is :

Options :

8643515601, X F3Y =3
8643515602, 2> Y=
8643515603, ¥ Y= 1
8643515604, * T2V =4

Question Number : 66 Question Id : 8643511866 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
HE B8 C Iaus 2= Qo e e e w y=x a3 sques Yfsfig e myg J 1 F=P(2,1)3
C & HUTH U™ =t AHigas J

Options :

8643515601, ¥ F3Y=2
8643515602, =% V=7
8643515603, ¥ ¥ =1
8643515604, ¥ T2V =4

Question Number : 67 Question Id : 8643511867 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let A denote the event that a 6-digit integer formed by 0, 1, 2, 3, 4, 5, 6 without repetitions,
be divisible by 3. Then probability of event A is equal to:

Options :
4
8643515605, ¢



8643515606.

8643515607.

8643515608.

Question Number : 67 Question Id : 8643511867 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
H& B8 A 8 6 ffrmi %3 3 3 &5t a= =8 " 719 0,1, 2, 3,4, 5, 6 & faa™ gaarfon 293
J gTEl gt I S wew § TOAE T 31 T weET A T A9esT 9oted J ¢

Options :

O |

8643515605.

~3| W

8643515606.
8643515607.

8643515608.

Question Number : 68 Question Id : 8643511868 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

_ _ _ _ _ . dy : -
If y=y(x) is the solution of the differential equation —= + (tanx) y=sinx, 0=x= Y with

dx
a7
y(0) =0, then H(ZJ equal to :
Options :
TE
"\E,J log, 2

B

8643515609.



1
—Ing i
8643515610, 2 ©

log 2
8643515611. Be

o

=t 2
7 Ingﬁ 2
8643515612.

Question Number : 68 Question Id : 8643511868 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e ’ d T = o
Hdd y=y(x) fsedws AHlaas a}f t(tanx) y=sinx, 0 = x = % oIS T w3 y(0)=0, 3T

.y(gl g9'HT T

|

Options :

(57)
2 Z,J IogHE

8643515609

1
E L:n»gH 2
8643515610.

log 2
8643515611. Be

|

— log 2

1 108
8643515612.

Question Number : 69 Question Id : 8643511869 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

-rcns_l{l {x}z}sin_l{l xh) .0
Let a € R be such that the function f(x)= 4 {x} {j_-}ﬁ i is

]

o, x=90

continuous at x=0, where {x}=x—[x], [x] is the greatest integer less than or equal to x.
Then :



Options :

8643515613, @=0

8643515614, NO such o exists

K= —

8643515615, V2

W= | =]

8643515616.

Question Number : 69 Question Id : 8643511869 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

-rcn:a"lf_l {x}?) sin"1(1 — fx})
HE B2 a e R B IT I TBE f(x) = | )

o, x=0

J, fag ) =x — [x], [x] »foa3H ygs »id x 3 we 77 9999 J1 3% :
Options :
8643515613, =0

for 297 99t o Hae &1 9
8643515614, “ £

a= —%%
8643515615. V2

o — .—"T
8643515616. 4

Question Number : 70 Question Id : 8643511870 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



If (x, y, z) be an arbitrary point lying on a plane PP which passes through the points (42, 0, 0),

(0,42, 0) and (0, 0, 42), then the value of the expression

' x—11 y—19 z—12 x+y+z
A 2 ) ' 7 2 2 :
(y—19)" (z—12) (x-11)" (z—12) (x—-11)" (y—19)° 14(x—11) (y-19) (z—12)
is equal to :
Options :
8643515617. 45

8643515618, 29

8643515619. 0

8643515620, 3

Question Number : 70 Question Id : 8643511870 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
ffg 38 P # &t fdgn (42,0, 0), (0, 42, 0) »3 (0,0, 42), &5 FuweT I BR BT (x, y, z) St fig
J1 3= mitags

34 x—11 I y—19 I z—12 xt+y+z

S W19 (2-127 (x-11)7 (127 (@-11)7 (y-19  14(x-11)(y-19) (z-12)
ETI;T'Hﬁ:

Options :

8643515617. 45

8643515618, 29

8643515619. 0

8643515620, 3



Question Number : 71 Question Id : 8643511871 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let A={2, 3, 4,5, ..., 30} and ‘=" be an equivalence relation on A x A, defined by
(a, b) = (c, d), if and only if ad=Dbc. Then the number of ordered pairs which satisfy this
equivalence relation with ordered pair (4, 3) is equal to :

Options :

8643515621. 5

=

8643515622.

|

8643515623.

oo

8643515624.

Question Number : 71 Question Id : 8643511871 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

HE 88 A={2,3,4,5, .., 30} m3 '~ AxA Qug 89 Av3s HdT I3 fod 397 ufgathz I
(a, b) = (c, d) THIE »2 fAgE ad =bc Bl 3T gH=ET Hf=3n 2t forsdt A St guET A37 (4, 3) 578
Options :

8643515621.

8643515622.

|

8643515623.

8643515624.

Question Number : 72 Question Id : 8643511872 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



|
LetP(x)=x>+bx +chea quadratic polynomial with real coefficients such that L}P{l'} de =1

and P(x) leaves remainder 5 when it is divided by (x —2). Then the value of 9(b +¢) is equal
to:

Options :

7
8643515625.

8643515626, 7

8643515627. e

15
8643515628.

Question Number : 72 Question Id : 8643511872 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
o
W5 B8 P(x)=22+bx +c THIfF Feiar TE € W migee T A=l jﬂP{x]dx=1 E

Px)d (x—2) eI 5992 d | 3T 9(b +c) T HS 9950 J :
Options :

7
8643515625.

8643515626, 2

8643515627. e

15
8643515628.

Question Number : 73 Question Id : 8643511873 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Consider a rectangle ABCD having 5, 7, 6, 9 points in the interior of the line segments
AB, CD, BC, DA respectively. Let a be the number of triangles having these points from
different sides as vertices and [} be the number of quadrilaterals having these points from

different sides as vertices. Then (5 —«) is equal to :



Options :
8643515629, 1173

8643515630, 1890
8643515631, 7

8643515632,

Question Number : 73 Question Id : 8643511873 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

H& B8 ABCD fea nifes I fane 3uniz AB, CD, BC, DA € »igd g9 5,7, 6,9 g 35 | Ha
BY o f3ga7 T farast I 7 foast o § »ida gae 3 faug & 9 gt arfent 98 w3 g 8Ist
Sogm el foest TAfeas e g nima A= S Md 75| ST (B o) 99T J :

Options :

8643515629. 1173

8643515630, 1890

=1
i
|

8643515631.

8643515632,

Question Number : 74 Question Id : 8643511874 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Consider the integral

- L1{][;;] el*] 3

| C_I]. d

where [x] denotes the greatest integer less than or equal to x. Then the value of I is equal

to :

Options :



8643515633, = (€11)

8643515634, 11D

45 (e —1)
8643515635.

9 (e 1)
8643515636.

Question Number : 74 Question Id : 8643511874 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[x

'G[I] - n -. =, v e o =
]1- —dx T8 [x] »fTI8H HYTE »id x € 9999 77 We § TaHg
e

i B8 fiadtags 1= [

T I|ITHEEIHT T ;

Options :

45 (e +1)
8643515633.

9 (e+1)
8643515634.

45 (e—1)
8643515635.

8643515636, © & D)

Question Number : 75 Question Id : 8643511875 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let A(—1, 1), B(3, 4) and C(2, 0) be given three points. A line y=mx, m>0, intersects lines
AC and BC at point P and Q respectively. Let A; and A, be the areas of AABC and APQC

respectively, such that A; =3A,, then the value of m is equal to :
Options :
8643515637, 1
&
8643515638, 12



-
8643515639. ~

8643515640,

Question Number : 75 Question Id : 8643511875 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
H& B8 A(-1,1), B3, 4) w3 C(2,0) T35 fdg i3 95 | 89 34" y=mx, m > 0, IY=T AC %3 BC
S gHTd fig P w3 Q I dc<t I 1 Wa B8 A, »3 A, AABC »3 APQC ¥ ¥39es J wefd
A=3A,FeEm T HB EIHI J :
Options :
8643515637. 1
A
8643515638, 1°

-
8643515639. ~

8643515640, °

Question Number : 76 Question Id : 8643511876 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The least value of z| where z is complex number which satisfies the inequality

((|z] +3) (|z| — 1)
Izl + 1

3
log. 2| = lngﬁ |5\.’r?_ I 9£'|, i=+-1,is equal to :
J

Options :

]

8643515641.

8643515642.

8643515643.

8643515644.



Question Number : 76 Question Id : 8643511876 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Hag z {8 fiafaz At T 7 fa vimsze

i

(2| +3) (|z| = 1) )
log,. 2
ol +1] b

5853+ HE 9a™g J -

Options :

> log 5 15V7 + 91, i=+-1 & H3We I3€1 I 3¢ 2] =7

I

8643515641.
8643515642.

8643515643.

8643515644.

Question Number : 77 Question Id : 8643511877 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

sinx 1 + cos2xy cos2x
The maximum value of f(x)= |14 sinZx cos2x cos2x|, xe Ris:
= X > .y
sin~x Ccos X sin 2x
Options :
"=
8643515645, V°
5
8643515646.

V7
8643515647.

3
8643515648, *



Question Number : 77 Question Id : 8643511877 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

12

. : 2
sin"x 1 +cos™x cCos
z . 9 5
f(x) =1+ sin“x cos“x cos 2x|, x e R &7 nifia3y HE - i
. 2 2 g
sin~x cos x sin 2y
Options :

5
8643515645, ¥

8643515646. 5

i .
L

8643515647.

H'—-I'..J'

8643515648.

Question Number : 78 Question Id : 8643511878 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given that the inverse trigonometric functions take principal values only. Then, the number

: : TIRT, v . e X
of real values of ¥ which sausf}-' 5in I[F | I sin 1(? | = sin” lx is equal to :
o, 2/

Options :
8643515649, U

8643515650.

o=

8643515651.

8643515652,

Question Number : 78 Question Id : 8643511878 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



a3 famr I fa O8e f3a=fiatt eus fage vy vs I 82 J5 1 32 x © Tw3feg He' &t faredt #

P _1( 4x S o
fa sin 1{%1 t sin 1(?11 = sin” 'x TQ‘H’E‘H’EW?. 99799 J
\ i b A
Options :
8643515649, 0

8643515650.

8643515651.

8643515652,

Question Number : 79 Question Id : 8643511879 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let f: S — S where S=(0, =) be a twice differentiable function such that f(x+ 1) =xf(x). If
g :5 — R be defined as g(x) =log, f(x), then the value of |¢g"(5) —¢"(1) is equal to :

Options :
205
8643515653, 144

197
8643515654, 144

187
8643515655, 144

8643515656, 1

Question Number : 79 Question Id : 8643511879 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
H& 88 f: S —» S ff8 S=(0, =) € 29 f3edumes 288 J #=fd f(x+ 1)=xf(x) | #&d
g:5S — R, g(x)=log, f(x) Tnrar Ufga iz I, 3 |g'(5) —g"(1)| T HS S9°g 7 :

Options :



205
8643515653, 144
197
8643515654, 144
187
8643515655, 144

8643515656, |

Question Number : 80 Question Id : 8643511880 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
3 : : i : : di
Let C, be the curve obtained by the solution of differential equation 2xy aj = yz x2, x>0.

Let the curve Cz be the solution of

e
s ﬂ If both the curves pass through (1, 1), then

xX"—y

the area enclosed h}-‘ the curves C 1 and Cz is r_-qual o :

Options :

A
8643515657, °
8643515658, T 1

bt
8643515659, 2
8643515660, T T 1

Question Number : 80 Question Id : 8643511880 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Hs B8 C, T34, faetinmms mHidaee 2;-5;3—5’=y2 2, x>0 TJ®IYREIT I e B8 C,
: 2

; T e 38 i 2 ks . s 5
=39 fsHE mitads 2"‘”2 L % TIWIY B IT I TFE SR TIT (1, 1) T Swhert
e .

IJ5 32 2FT C, W3 C, Tig" Wignm Ifemm 439 9989 7

Options :

gty
8643515657, 4
8643515658, 7 1

=
8643515659. <
8643515660, 7 1
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Section type : Online
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Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351126
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 8643511881 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



For real numbers «o, 3, v and &, if

2
(x2-1) A t.?u'n_l[}L l lw
N 4 dx

s
2
[_x4l 3x2 4 1_] tfm_l{}L l 11
A o)

| 2 2 5
= H1 pl ) . o |
= a Iﬂgﬁ[tan : [l—ﬂ kB tan 1[M]I 5 tan 1[1 1 FC
- 3 J \ J

\, \ \ X

where C is an arbitrary constant, then the value of 10(« + vy + ) is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 81 Question Id : 8643511881 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

: 2
(x2-1) 4 ‘tﬂI‘l_l[x l 1}
N

[._'1'4| 3x2 4 1] tan_l[ :
W X

THIfEE WF o, B, v MI 5, BEt A9 J

| : . .
— Ingﬁ(ta“_l {l l lﬂ i tﬂ“_l{—?{l 1”' ﬁta_tl_l{l l 1} +C
. s

\ x . X ; . X/

ffEC Tt A a8 T | 32 10(a+t Py +8) T HS ¥ JI

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100



Question Number : 82 Question Id : 8643511882 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

In AABC, the lengths of sides AC and AB are 12 cm and 5 cm, respectively. If the area of
AABC is 30 cm? and R and r are respectively the radii of circumcircle and incircle of AABC,

then the value of 2R +r (in cm) is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 82 Question Id : 8643511882 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

AABC feg ga=" AC %3 AB &1 gHTJ 8978l 12 cm %3 5cm I | #&d AABC T 439e8
30 cm2 J %3 R, r 7 fd AABC 2 97Jd1 999 »3 wiegal 9aa € »dT fan™ 95| 32 2R+ 1 (cm
f29) ¥ HS "99g et}

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 83 Question Id : 8643511883 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

If the distance of the point (1, — 2, 3) from the plane x+ 2y —3z + 10=0 measured parallel to

s x—1 2—y 43 . :
the line, — = = is , then the value of \m is equal to

7
3 m 1 2

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100



Question Number : 83 Question Id : 8643511883 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

= o = = = ..1' 2 ol it ‘
dagfag (1, —2,3) S I\Wx+2y-3z+10=0F g A g oy" —— = = AN

Jrr
- 4
HUE 3 \I'IE
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

yet At 9, 3¥ |m| ¥ HE §9THT T

Text Areas : PlainText
Possible Answers :

100

Question Number : 84 Question Id : 8643511884 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

—— —

A A Y e A A L)
Let ¢ be a vector perpendicular to the vectors a =i + j ~kand b =i +2j + k. If

e | — — |

j 4 ?-k:l =8 then the value of ¢ - 'a X hJ is equal to

— [ A M
C '*I |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 84 Question Id : 8643511884 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

—_

W 88 ¢ 399, a=i+j -k ™3 b=i+2j+k 292 & wfgdy 3 | 799

(s e

cli+5+3k)=82,%= - Gxblovmmw___ ¥

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :



100

Question Number : 85 Question Id : 8643511885 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Letf:R — Rand g: R — R be defined as

[x+a, =x<0 x+1, x<0
f{l‘]=<|

(i and g(x) =J

, x=0 t[x 1}|2|br x=0

where a, b are non-negative real numbers. If (gof) (x) is continuous for all x € R, thena + b is

equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 85 Question Id : 8643511885 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

H& B8 f: R — R »3 g: R — R 5 fod »igrAg ufgeas I5 :

¢ [x+a x<0 @) J Tl x<0
X =4 3 &\)=
f(x) |;_ 1. x=0 KER t[x l}lz|b, x=0

r

79 a, b 313 3I93HA THIEF »id TS | 7aT (gof) (x) I x e R BE BArIg J | 32 a+b
0= A

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 86 Question Id : 8643511886 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



Consider the statistics of two sets of observations as follows :

Size Mean Variance
Observation I 10 2 £
Observation II n 3 1
: _ g el :

If the variance of the combined set of these two observations is X then the value of n is
equal to S
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :
100
Question Number : 86 Question Id : 8643511886 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

H& B8 & Yus € AT & wigsT I35 84 wigHa T :

wrag HOH'S  YHIS

yus 1 10 2 2

yyE 1 n 3 1

3 M St e 17 ’
WWEWEWW?W?ﬁ,EnW T

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 87 Question Id : 8643511887 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



n
Let n be a positive integer. Let A = Z{ I]k ne, {
k=0

If 63A=1 %’{.} , then n is equal to
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 87 Question Id : 8643511887 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

H& B8 n 9 13=Ha ugs »ig I | Hs 58

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 88 Question Id : 8643511888 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

a b
Let A= Ll ] and B= [h1] be two 2 x1 matrices with real entries such that A =XB, where
da 2

K:ﬁ[i k]and keR. If 8 +a, = 3[b1 | th and (k% + 1) by # 2 b, b,, then the

wvalue of k is



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 88 Question Id : 8643511888 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

He B8 :x:[al} e B:[fl

do b

T 2x 1 St TH3fEg 33T BT Hicant 5 Aefa A=XB fag

' 2 _1 _1 . . ’
e wIkeRT| 7aq a; +aj5 =
V3|1 k

| kI

(b +b3) »F k2+1) b2 = ~2b, by, FTEK

o a3

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 89 Question Id : 8643511889 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let ll_fa a and b be in G.P. and _l, :

B’ 6 bein A.P., wherea, b> 0. Then 72(a+ b) is equal to
a

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 89 Question Id : 8643511889 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



ma@f‘s&w% abwBen3MTa>03T | 733 UfgS 35 ue aHTEst w3 »mydt f35 ue

nZg3t Bt fE9 95 3T 72(a+b) §IHI T

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 90 Question Id : 8643511890 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let

Sp(x)=log yx+log yx+log wyx+log vy x+log iy x+log 1y x+..... up to n-terms,
a2 a3 ~ash a1 “as18 “asrs

where a > 1. If 5,;(x) =1093 and 5,,(2x) =265, then value of a is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 90 Question Id : 8643511890 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

5 ?55@ Gl = logagx I lf}ga}/_:x | lngah:x | logaHlx | logal{ﬁx | loga%x . n U=t

39, M8 a>13 1 799 S,y (x)=1093 M3 Sp,(2x) =265 € a T HS TI=d T

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100



